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SECTION 
A COMPULSORY
QUESTION 1
1.1 MULTIPLE-CHOICE QUESTION
1.1.1	B	Shutdown
1.1.2	C	Marginal Cost
1.1.3	A	Competition Commission
1.1.4	B	Natural Monopoly
1.1.5	B	Long Run
1.1.6	C	Change in marginal cost of oligopoly
1.1.7	A	Private Cost
1.1.8	C	Cost Benefit Analysis   				(8 x 2) (16)

 1.2	MATCHING ITEMS

1.2.1	B	information is available to all participants and product 
Is homogeneous 

1.2.2	H	Actual expenditure of a business on the purchase or hire
	           of inputs

1.2.3	E	Enough profit to make sure that the business will continue to
		operate
1.2.4	I	Firms informally agree to control market by manipulating price
		and output.

1.2.5	D	Efforts to make a product more attractive by contrasting its 
		Unique qualities

1.2.6	C	goods beneficial to the community as a whole

1.2.7	A	It is an example of Social Cost

1.2.8	F	A reduction in economic welfare where part  of consumer 
		Surplus and part of producer surplus are lost due to allocative
		Inefficiency						(8 X 1) (8)




1.3	ONE WORD ITEM

	1.3.1	Diseconomies of scale
	
	1.3.2	Implicit Cost

	1.3.3	Quasi-Monopoly

	1.3.4	Patent

	1.3.5	Price Leadership

	1.3.6	Non-rivalry								(6 x 1) (6)
 
								TOTAL SECTION A:	30




SECTION B

Answer TWO of the THREE questions in this section

QUESTION 2: MICROECONOMICS

2.1	Answer the following questions
	2.1.1.	List any TWO characteristics of perfect market	
· Many buyers and sellers
· Homogeneous product
· Free entry and exit
· Information is complete				              (Any 2 x1) (2)
	2.1.2	Why would price be equal to AR under perfect market? 	
· Price is the same under perfect market
· Price takers
· Individual suppliers cannot influence the price 		          (1 x 2) (2)

2.2	Data Response
	2.2.1	Give the graph the appropriate heading
		Perfect market								          (2)
	2.2.2	Identify profit maximisation from the graph 				 
		Point E where MC=MR							           (2)

	2.2.3	What would happen when business produce Q1 at point A
· More profit will be generated
· MC<MR								          (4)	
2.2.4	Why is it not possible to produce Q3 at point D			
· At point D MC is more than MR therefore no profit will
be generated.
· Firm will be running at a loss. 					          (2)
2.3	Data Response
	2.3.1	Give the full name of entity responsible for upgrading of
		Gauteng 
		Gauteng Freeway Improvement Project 					          (1)

	2.3.2	Identify any THREE social benefits of the project from the extract
· Job creation
· Economic growth
· Safety of road users 							 
· Improved road infrastructure				    (Any 3 x 1) (3)

	2.3.3	Is it worthwhile investing in the project from the extract? Motivate
		Yes
· Social benefits outweigh cost
· Improved lighting
· Real time signage
· Free way management system
· Sustainable road maintenance and incident management	           (6)

	2.4	Differentiate between productive and allocative inefficiency.
		Alocative inefficiency
· Product mix does not reflect consumer’s tastes and therefore resources are not allocated in the right proportions
· Quantity required by consumers are not available

		Productive inefficiency
· Business does not produce goods at the lowest possible cost.
· Business can reduce costs without producing fewer goods or producing lower quality goods 			         (2 x 4) (8)









2.5 Discuss the relationship between AC and MC curves in the long run
                                                                                  
· The LMRC curve intersects the LRAC at the lowest point.
· When the LRMC lies below the LRAC curve, the LRAC will decrease
· When the LRMC lies above the LRAC curve, the LRAC will increase
· Profit maximisation point in the long run, is the point where LRMC curve intersects the LRAC curve at the lowest point                         								(4 x 2) (8)
                                 				                     [40]

QUESTION 3

3.1. Answer the following questions

3.1.1 List any TWO types of demerit goods
· Alcohol
· Cigarettes								         (2 x 1) (2)

3.1.2 How will consumers benefit from subsidies?
· Pay less from actual market price 	                                          (2 x 1) (2)

3.2	Data Response
	3.2.1 What type of market structure is depicted by the cartoon?
		Oligopoly 								          (2)

	3.2.2	Name the demand curve faced by this market
		Kinked demand curve 					                               (2)
		
	3.2.3	Mention the type of collusion associated with the market
		Overt or implicit collusion                  					          (2)
		
	3.2.4	What will happen if one of the participants decides to 					increase price? Motivate.
		Other participants will not follow
		Less revenue will be generated                                                              (4)

3.3	Data response
		3.3.1	Identify the market price for monopolistic competition.	
R15 								          (2)

	3.3.2	At what point does profit maximisation occur in a perfectly 				competitive market?
		A                                      					          (2)
	3.3.3	How many units are produced under perfect competition?
		1000 units 							          (2)

	
	3.3.4	 Calculate the profit made under perfect competition. Show 				all your calculations. 
		Total Revenue – Total Cost
		(R10 x 1000) – (R10 x 1000)    
0   normal profit						          (4)

3.4 	Discuss the non-price competition methods of the oligopolist under the 
           following headings
	Product differentiation
· Each firm produces a product that is slightly different from the product produced from the other firms
· Example, products and services offered by the banks, they are not identical                                                                       	          (2x 2) (4)

· Product proliferation 
· Each firm produces a range of products to cater for as many markets as possible
· Example, car producers, Toyota or Mazda produces a range of vehicles from small hatchbacks to SUVs 			                    (2x 2) (4)

3.5 	How would the government limit the power of competitors 			and address market failure?
· The government can impose price controls to prevent unacceptably high prices.
· The government can tax full amount of economic profit
· The government can regulate a monopoly through a competition policy.
· The state can decide to produce the product themselves or to regulate the production of a private competitor.                                                  (4x2)(8)
												        [40]









QUESTION 4
4.1 	Answer the following questions
4.1.1 List two characteristics of public goods.
· Non-rivalry
· Non-excludability						         (2 x 1) (2)
	4.1.2	What is the disadvantage of setting minimum price?
· Oversupply which may result in surplus stock. 
· Dumping may occur 
· The surplus can be destroyed or be used as animal
 fodder							            (1 x 2) (2)
4.2	Data Response
	4.2.1	Why did Apollo tyres agreed to pay a penalty?
· In the interest of shareholders 					              (1)

4.2.2 How did the commission find out this practice?                                
By a fleet owner								           (1)

4.2.3 Where was the search and seizure operation carried out? 		
· At the premises of Bridgrston ,Apollo and SATMC			           (2)

4.2.4.   What commission should do to prevent these illegal practices happen
			   in future? 
· Effective monitoring mechanisms in place.
· Regulatory framework for businesses
· Issue guidelines for the running of the business.        (3 X 2) (6)

	4.3.1 What type of pollution is depicted by the graph
· air pollution  							          (1)
	4.3.2	Name the type of externality indicated in the graph 
· negative externality							           (2)
	4.3.3	What determines the external costs?
		Determined by Social Costs where society is responsible for payment of
		of such costs. 								          (2)
	4.3.4	How will price and quantity be affected by this externality?			
· Price will increase due to social costs 
· Quantity will decrease  					           									         (4)


4.3 Differentiate between short run and long run.
	SHORT RUN
	LONG RUN

	· Period so short to adjust fixed cost.  
	· Possible to change fixed costs. 

	· Only variable costs can change (e.g.) change in raw materials. 
	· Long term planning is possible (e.g.) expansion or increase the in the size of plant. 

	· Economic profit possible under perfect competition. 
	· Economic profit possible both in short and long run under imperfect markets. 


										(Any 2 x 4) (8)

4.5	Briefly discuss the impact of advertising have on consumer?
· Consumers are provided with information about the products. 
· Persuade consumers to make a purchase. 
· Remind the consumer of the benefits of buying a particular product. 
· Brand loyalty is maintained. 
· Consumers develop interest on the product advertised. 
									(Any 4 x 2) (8)
										      [40]
							     TOTAL SECTION B: 80



















SECTION C
Answer any ONE of the two questions in this section in the ANSWER BOOK. Your answer will be assessed as follows:

	
STRUCTURE OF ESSAY
	MARK
ALLOCATION

	Introduction
	Max. 2

	Body
Main part: Discuss in detail/In-depth discussion/Examine/Critically discuss/Analyse/Compare/Evaluate/Distinguish/Differentiate/Explain/ Assess/Debate

Additional part: Give own opinion/Critically discuss/Evaluate/Critically evaluate/Draw a graph and explain/Use the graph given and explain/ Complete the given graph/Calculate/Deduce/Compare/Explain/ Distinguish/Interpret/Briefly debate/How?/Suggest
	
Max. 26




Max. 10

	Conclusion
Any higher-order conclusion should include:
•	A brief summary of what has been discussed without repeating facts already mentioned
•    Any opinion or valued judgement on the facts discussed
•    Additional support information to strengthen the discussion/analysis
•    A contradictory viewpoint with motivation, if required
•    Recommendations
	
Max. 2

	TOTAL
	40



QUESTION 5

· Discuss monopoly in detail as a market structure 				(26)
· In addition, Differentiate between artificial and natural monopoly		(10)
											[40]
INTRODUCTION

Monopoly exists when there is only one seller of a product, when the product has no close substitutes, and when barriers block entry into the market completely 
(Max. 2)

BODY

MAIN PART

•      Number of producers 
-	The monopolist has full control over the supply of a product, because it is the only seller 
-      The monopoly also represents the total industry e.g. De Beers, Eskom 

•      Nature of the product 
-    The product is unique and has no close substitutes 
-    E.g. electricity and rail transport 

•      Economic profit 
-    The monopoly makes a short-term loss or profit 

•      Technical superiority 
-	A  monopoly has  technical  advantage  over  potential  competitors and  their access to resources and technical superiority make it difficult for others to compete 

•      Access to scarce resources 
-	A single firm owns and controls a specific scarce resources and excludes other companies from entering the market 

•      Demand curve 
-	Monopolists  are  also  confronted  with  a  demand  curve  for  their  product  but because they are the only supplier of the product they can decide at what point on the demand curve they wish to be 
-	The monopolist is the only supplier of the product in the market - the demand curve that confronts the monopolist is that of the market as a whole 
-      The market demand curve which slopes downwards from left to right / graph 

•      Production level 
-	Once the monopolist has decided on a price, the quantity sold is determined by market demand - by reducing the price, monopolists can sell more units of the product and vice versa 
-	Monopolists influence the product-price combination of the product they sell without any reaction from other market participants 
-	Other participants cannot act because a basic requirement for the existence of a monopoly is that entry to the market is blocked 

•      Market forces 
-	Although the monopolist is the only supplier of a product, the product is still influenced by market forces in the economy 
-      Consumers have limited budgets and a monopoly can therefore not
demand excessive prices for the product and the monopolist product has to compete for consumer’s favour with all the other products available in the economy 
-      E.g. Transnet competes road, air etc. means of transport 

•      Control over the price 
-	A monopolist has considerable control over the market price – but demand limits it 
-	A monopoly does not have control over demand, so demand will influence the final market price 
-	A monopoly can only decide at which point on the demand curve it wants to produce 


•      Substitutes 
-      There are few products that have no close substitutes whatsoever 
-	For many years even though there was no competition for telephone services in South Africa, consumers could still use alternative forms of communication such as letters and telegrams 

•      Favourable circumstances 
-	Sometimes  entrepreneur  may  enjoy  favourable  circumstances  in  a  certain geographic area 
-	E.g. there may be only one supplier of milk in a particular town, a hardware store or hotel 
-      There may even be laws that protect them, e.g. Post Offices in South Africa 
-      Pure monopolies are a common rarity in South Africa 
-	Not only are substitutes available, but there is often nothing to prevent other entrepreneurs from entering the market hence what may be called a quasi- monopoly 

•      Market information 
-	All buyers and the single seller have full knowledge of all the current market conditions 

•      Exploitation of consumers 
-	The  monopolist  may  produce  fewer  products  at  a  higher  price  compared  to businesses under perfect competition 
-	E.g. De Beers, because the monopolist is the only producer of the product in the market,   there   is   always   the   possibility   of   consumer   exploitation.   Most governments take steps to guard against such practices and new and existing monopolies are usually well monitored 

•      Market entry 
-	The barriers prevent other producers from entering the market to supply the same type of product 
· Economies of scale 
-     These give advantages to large existing companies 
-     Occur when the cost per unit decreases when the output increases 
-	Large businesses production costs per unit are lower than those of small businesses, e.g. Eskom 

•      The geographical area 
-	This can cause a natural barrier as well, e.g. only one holiday resort can fit on the seafront as an exclusive beach 

•      Size of the market 
-	Sometimes a business enjoys favourable circumstances in a certain small market 
-     E.g. there may be only one hardware store in a particular small town 
												(Max 26)




ADDITIONAL PART
      Natural monopolies 
-	High development cost are frequently a reason - the provision of electricity is often used as an example
-	To  build  a  nuclear  power  station  and  transmission  lines  to  distribute electricity costs billions of rands 
-	E.g. Eskom as a single business in the country that supplies electricity  operates as a natural monopoly and is frequently owned and regulated by the government 

      Artificial monopolies 
-	The barriers to entry are not economic in nature but artificial like patent rights which are legal and exclusive rights of   a patent holder to manufacture a product using his or her unique invention 
-      Patents are also frequently encountered in the pharmaceutical industry 
-	Licensing is another way in which artificial monopoly is applied, e.g. TV and radio licenses 
-      licences protect operators against entry of other competitors 

CONCLUSION
The monopolist is a price maker but cannot set a price independently of output. A higher price will always result in less quantity. 
(Accept any other relevant  conclusion)                                                              (Max. 2)




























QUESTION 6
Discuss the reasons for market failure under the following headings.
· Imperfect information
· Imperfect distribution of wealth and income
· Merit and demerit goods.                                                                                 (26)


Introduction
When free markets fail to produce the quantities of goods and services that
 people want at prices that reflect the marginal utility (value to the consumer) of the product											 (2)
	
Imperfect information
· Consumers, workers and entrepreneurs do not always have the
 necessary information at their disposal to make rational decisions
· Consumers:  although advance in technology increases the amount of
 information to which people have access, they do not have perfect information.
· Workers: Are often unaware of job opportunities outside their current employment
· Entrepreneurs: Lack of information on costs, availability and productivity of factors of production impacts their effectiveness. May be operating on incorrect information.  (8)

Imperfect distribution of income and wealth
· Income distribution: The market system is neutral on issues of income
 distribution.
· Discrimination: Distorts earnings for women and minority groups, disabled
 persons and people subject to illness and incapacity.
· The market produces goods and services only for those who can afford it.
· This leads to some people having too many goods while others have too few
 goods.
· The difference in income occurs because there is a difference in market power,
 unequal educational opportunities, discrimination and inheritance.                                  											      (10)

Merit and demerit goods
· Merit goods: These are highly desirable for general welfare, but not highly
 rated by the market, e.g. health care, education and safety.
· If people had to pay the market price for them, very little would be consumed.
 The market fails because the market produces less than the desired quantity.
· Demerit goods: These are over-consumed goods, e.g. cigarettes, alcohol and drugs.
 Thus more of the good is produced than is socially desirable.
·  The government bans or reduces consumption of these products through taxation,
 and provides information to the population on their harmful effects.      	       (8)









In addition, explain how the state intervenes to mitigate the effects of market failure
 in the above cases.	                                                                                                               

 Lack of information
· Government provides information to consumers through legislation
 and the media.
· The Advertising Standards Authority of South Africa (ASA) is the government
 body that deals with misleading advertising					(max 2)

Distribution of income and wealth
· The government attempts to change the distribution of income and wealth
 by the following means:
· The national budget and taxation: Providing grants to the unemployed,
 to foster parents and to orphans or those looking after orphans; cutting taxes on low earners and increasing taxes on high earners and profitable businesses.
· Subsidies: Subsidising staple foods; implementing job creation programmes; providing meals to children in impoverished areas.
· Regulatory measures: Land reform; labour legislation; preferential access to government procurement contracts; black economic empowerment policies. 
												(max 4)
Merit and demerit goods
· Merit goods: Higher consumption of these goods is regarded as good for
 society. The government makes use of subsidies to encourage their use, e.g. subsidising the production and distribution of condoms.
· Demerit goods: The government uses taxes to discourage their consumption
 e.g. cigarettes.									  (max 4)								       			      (10)
Conclusion:
Accept any relevant conclusion 							        (2)							     
												      [40]
										GRAND TOTAL: 150
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